Uddevalla

BF

Partavling Hcp 2023-03-17

Partavling, 6 bord, 12 par. Antal brickor: 20. Medel: 100.0.

Plac  Par Poang % Namn MID Klubb
1 5 124.8 62.40  Siw Andersson - Rolf Dahlberg 32635 61570 Uddevalla BF
2 3 124.4 62.22  Halvard Johnsson - Gun Britt Rinderos 66710 66709 Uddevalla BF
3 6 110.4 55.19  Birgitta Andersson - Elisabeth Brattberg 27123 61569 Uddevalla BF
4 11 106.7 53.35  Lisbeth Johnsson - Kéarsti Mossberg-Martins 92688 92682 Uddevalla BF
5 4 105.4 52.69  Bjorn Herbo - Pontus Kjellberg 64404 39883 Uddevalla BF
6 1 103.2 51.61 Inger Karlsson - Ann Hermansson 3604 201816  Uddevalla BF
7 7 100.9 50.45  Kent-Ake Wilhelmsson - Irma Karlsson 28642 13187 Uddevalla BF
8 2 97.8 48.92  Leif Olsson - Britta Andersson 49269 48464 Uddevalla BF
9 9 92.6 46.31  Rolf Bjork - Leif Andersson 68166 68165 Uddevalla BF
10 8 90.7 45.37  Ragnar Johansson - Gudrun Malberg 62904 27142 Uddevalla BF
11 12 90.6 45.31  Marianne Andersson - Bo Andersson 87008 87007 Uddevalla BF
12 10 524 26.21  Kickan Rodin - Lasse Rodin 34716 34715 Uddevalla BF
1 4 ED2 Basta kontrakt 2 4104 Basta kontrakt 3 & E842 Basta kontrakt
Nord v KKn1052 34 O =-110 Ost vD9742 34 O =-140 Syd v 1032 34 V =-140
Ingen + E962 NS + 96 ov + D73
&5 & ¢ v & NT #DKn74 & ¢ v & NT #EDKn & ¢ v & NT
& K96 4 Kn85 N4676°5 4 652 » EK87 N4 3634 4 Kn9653 4 K107 N7 3437
v93 vED4 S467 65 vE653 v8 S326 34 v ED98 vKn76 S73437
¢ K87 ¢ DKn10 097676 ¢+ KD104 ¢ Kn85 O 9 106 9 8 ¢+ Kn ¢ EK9842 059996
#DKn983 #E762 V97¢67F€6 %108 #EK965 V 9 106 9 8 %852 «10 V59996
410743 4 DKn93 D
v 876 v KKn10 v K54
+543 ¢ E732 + 1065
«K104 *32 #K97643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 3 1lv N= +J 80 100 00|11 1 3#0-1 T 50 90 10| 5 4 44 N-1 +K -50 9.0 1.0
9 2 2NO-1 LYt 50 80 20|12 8 3NV-1 v7 50 90 10|11 2 3&#N-1 ¢A -50 9.0 1.0
11 1 1v N-1 +J -50 6.0 40| 4 3 240-= ¢ A -90 6.0 40| 8 6 3#N-2 +K -100 6.0 4.0
7 5 3aV= vT -110 40 60| 9 2 14a0+2 2 -140 40 60| 1 7 34 O+1 &9 -130 40 6.0
12 8 3a&V+l A -130 20 80| 7 5 INV+2 «#Q -150 20 80| 9 12 24 V+2 &J -170 20 8.0
10 6 2NV+1 «T -150 0.0 100(10 6 3NV= *7 -400 0.0 100(10 3 3NN-4 +K -200 0.0 10.0
4 1075 Bésta kontrakt 5 s K4 Bésta kontrakt 6 4103 Bésta kontrakt
Vast vE4 24 N =90 Nord v KKn10962 2NT N =120 Ost v KKn873 5v S =450
Alla + K987 NS + E10 ov + 864
#ED52 & ¢ v & NT »K32 & ¢ v & NT *KD6 & ¢ v & NT
464 4 D9832 N8 7677 4E752 4Kn96 N6 6 86 8 4 Kn2 « EKD64 N 111 113 3
vK972 D83 S87677 vE843 vD S 66 86 8 v 962 vD4 S 111 113 3
¢ ED65 4103 O556 65 +D3 ¢ K8762 06 7 475 ¢ DKn973 ¢ EK1052 O 2 101 8 2
#Kn64 #K107 V556675 #EKn8 #10754 V77475 #Kn93 *2 vV 2 101 7 2
& EKKn 4 D1083 49875
v Kn1065 v75 vE105
¢ Kn42 + Kn954 ¢-
2983 «D96 #E108754
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 2 2NS= *6 120 100 00| 1 4 2¢v N= 49 110 70 30| 2 8 140+l A -110 9.0 1.0
1 7 INN= 48 90 70 30| 2 8 1lyN+1 6 110 70 3.0(12 10 14 O+1 &4 -110 9.0 1.0
5 4 INS= v2 90 70 30| 9 7 2vN= ¢7 110 70 30| 6 5 4¢ V+1 oT -150 6.0 4.0
8 6 2¢ N-2 49 -200 30 70|12 10 2v N= *7 110 70 30| 1 4 14 O+3 &7 -170 30 70
10 3 2¢ N-2 43 -200 30 70(11 3 INV-1 v9 50 20 80|11 3 14 0+3 ¥5 -170 30 7.0
9 12 24 S-3 +5 -300 0.0 100 6 5 2vy N-1 49 -100 0.0 100 9 7 44 0= *A -620 0.0 10.0
7 » K10632 Bésta kontrakt 8 4 843 Bésta kontrakt 9 49875 Bésta kontrakt
Syd v 92 3v S =140 Vast v974 44 V =-420 Nord v Kn9642 54 O =-650
Alla + K10863 Ingen + D7653 ov + 1086
*6 & ¢ v & NT *97 & ¢ v & NT *4 & ¢ v & NT
4 E85 4 Kn94 N 6 109 8 7 «4ED92 K5 NO5330 « EDKn10 46432 N2 3522
vE1063 v84 S 6 109 8 8 vEKn65 vK10 S05330 vE73 v 108 S 24522
¢52 ¢ EKn4 O7 3445 4942 4108 O 118 9 108 +D4 ¢ E952 O 109 7 1110
K542  #109873 V73445 102 #EKDKn653 V 118 9 108 &#EK102 #DKn3 vV 109 7 1110
D7 4 Kn1076 oK
v KDKn75 v D832 v KD5
+ D97 ¢ EKKn ¢ KKn73
#EDKn »84 #98765
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 12 2vS= a5 110 90 10| 2 5 3NV-1 +3 50 100 00| 3 6 44 0-1 +vQ 100 10.0 0.0
3 9 24S= v3 110 90 10| 1 12 240+3 +¢K -150 6.0 40| 4 10 1v N-1 5 -50 8.0 20
2 5 24S-1 v8 -100 40 60| 3 9 240+3 A -150 6.0 40|12 2 2NV+2 +6 -180 6.0 4.0
7 6 2NS-1 *2 -100 40 6011 4 3#V+2 5 -150 6.0 40| 8 7 340+2 &9 -200 40 6.0
11 4 INS-1 »2 -100 40 60| 7 6 540= *A -400 10 90| 1 9 4eV= LY -620 20 8.0
10 8 2NS-3 *4 -300 0.0 100(10 8 5#0-= ¢ A -400 10 90|11 5 3NV+1 v4 -630 0.0 10.0
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10 4 E94 Basta kontrakt 11 4 KD2 Basta kontrakt 12 484 Basta kontrakt
Ost vE96 6NT S = 1440 Syd vE96 34 S =140 Vast v D864 5¢ VD -2 300
Alla + DKn6 Ingen + K76 NS 4975
#ED75 & ¢ v & NT #K953 & ¢ v & NT #EDKnN2 & ¢ v & NT
4« KKn1075 486 N 8 11109 11 4984 465 N 105 7 9 7 4 Knl09 D6 N 114 8 105
vK7 v 10852 S 8 11119 12 vKKn3  v10875 S 105 6 9 6 v 10953 vEK S 114 8 105
+5 4109743 042241 ¢ 109532 ¢ EDKn4 O3 86 44 ¢+KD86 ¢EKn10432 O 2 9 4 3 7
#K10942 86 V42241 42 #EKn6 V 386 44 #85 #1074 V29437
4 D32 4 EKn1073 & EK7532
v DKn43 v D42 vKn72
+ EK82 +8 .-
#Kn3 «D1087 #K963
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 5 3NN+3 8 690 100 00| 2 10 3NN= +4 400 9.0 10| 3 12 34 S+1 46 170 9.0 1.0
1 9 3NN+2 &8 660 80 20| 9 8 3NN= +J 400 90 10| 4 7 34S+1 ¢K 170 9.0 1.0
3 6 3NN+1 8 630 40 6.0 3 12 2NN= *4 120 60 40| 5 1 34S= +Q 140 6.0 4.0
4 10 3BNN+1 7 630 40 6.0(11 6 24 N= v8 110 40 60| 2 10 54 S-1 ¢+ K -100 40 6.0
12 2 3NS+1 a7 630 40 60| 4 7 445S-1 vK -50 10 90|11 6 3¢ O= &K -110 20 8.0
8 7 3NN-1 8 -100 00 100 5 1 44 N-1 vT -50 10 90| 9 8 2¢ O+2 oA -130 0.0 10.0
13 442 Basta kontrakt 14 497 Basta kontrakt 15 4 EKn75 Basta kontrakt
Nord vE97 44 O =-620 Ost v 865 3NT S =400 Syd v- 5v V D -3500
Alla 41085 Ingen + EK10752 NS +84
#EK972 & ¢ v & NT 83 & ¢ v & NT #KDKn7642 & ¢ v & NT
.- « EKDKN9875N 5 3 7 3 4 & EK1052 4 Kn8 N59 5509 484 410963 N 118 5 9 6
v K10 vKn64 S55616 vK1043 D97 S596609 vDKn107 vE98653 S 118 4 9 6
¢ EKKn7432 - O7 8 6 106 +8 ¢ Kn93 07 476 4 410972 ¢ E53 024833
#Kn1085 D3 V 7 8 6 106 *762 #DKn1094 V 7 4 7 6 4 #E108 »- V24833
» 1063 4 D643 4 KD2
v D8532 v EKn2 v K42
+ D96 + D64 + KDKn6
*64 #EK5 #953
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 1 440-1 4 100 80 20| 6 2 3NS+1 &A 430 100 00| 4 2 4vDO-2 +Q 300 10.0 0.0
5 8 44 0-1 4 100 80 20(11 7 INS+4 &A 210 80 20| 1 10 2#N+3 ¢8 150 80 20
6 2 44 0-1 &4 100 80 20| 3 1 INS+3 &K 180 50 50| 5 12 44 N= v7 130 6.0 4.0
10 9 24 O+1 v2 -140 40 6.0 5 8 INS+3 &A 180 50 50| 7 3 3NS-2 vQ -200 40 6.0
11 7 44 O+1 #4 -650 20 80|10 9 INS+2 3 150 10 90| 6 9 3NS-3 v7 -300 1.0 90
12 4 64 O= v2 -1430 00 100(12 4 2NS+1 &K 150 10 90|11 8 3NS-3 vQ -300 1.0 090
16  EKn1053 Bésta kontrakt 17 s E2 Bésta kontrakt 18 & DKn8 Bésta kontrakt
Vast vKnl0 4v N D -3-500 Nord v 65 3« ND-1-100 Ost v KD832 4¢ OD-2300
oV ¢+ D72 Ingen + DKn987 NS + E10
+D87 & ¢ v & NT #D854 & ¢ v & NT *974 & ¢ v & NT
aKD94 482 N53754 4 KD10764 #Kn83 N8 8755 41062 & EK53 N 105 9 8 9
vKD84 v6 S53754 vK72 v D94 S887 45 v 105 vE94 S 105 9 8 9
¢+ Kn1084 ¢ EK953 O 8 106 7 9 + K64 ¢ E105 045585 ¢ DKn97653 ¢ 42 038353
*2 #EKn1064 V 8 106 7 9 *7 #Kn1096 V 44485 &Kn #10653 V38353
476 495 4974
v E97532 v EKn1083 vKn76
+6 ¢ 32 + K8
#K953 #EK32 #EKD82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 12 2v S= »2 110 100 00|11 9 3#S-1 a7 -50 10.0 0.0 7 10 3NS+2 ¢9 660 10.0 0.0
1 10 3¢ O= *9 -110 70 30| 2 1 3s4V= v6 -140 50 50| 2 1 2¢N+2 &K 170 70 3.0
7 3 24V-= v] -110 70 30| 5 3 24V+l v6 -140 50 50|12 6 3vy N+1 &K 170 7.0 3.0
6 9 4¢ O= »3 -130 30 70| 7 10 24 V+1 v6 -140 50 50|11 9 2NS+1 3 150 40 6.0
11 8 3¢ O+1 6 -130 30 70 8 4 24V+1l v6 -140 50 50| 5 3 3NN-1 & K -100 1.0 9.0
4 2 34 N-3 ¢ A -150 00 100(12 6 24 V+2 v6 -170 00 100 8 4 44S-1 vT -100 1.0 090
19  EKKn9 Bésta kontrakt 20 & K9864 Bésta kontrakt
Syd v EKKn7 6NT S =990 Vast v 108 5 N D -2 -500
oV ¢ EK Alla ¢ 754
+D86 & ¢ v & NT #952 & ¢ v & NT
410763 4 D852 N 9 8 121112 4 E7532 4 DKn10 N9 7 3514
v9 vD5 S 9 8 121012 v 964 vKDKn732 S 9 7 3 5 4
4987654 ¢ 103 035111 ¢EK92 +¢6 045 108 7
£107 #KKn432 V45121 LY D103 V 4 4 108 6
Ly .-
v 1086432 vE5
¢ DKn2 + DKn1083
#E95 #EKKn876
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 10 6v S= *7 980 100 00| 7 12 54DV-4 &9 1100 10.0 0.0
3 2 3NN+4 &2 520 70 30| 6 4 44V-3 *5 300 8.0 20
8 1 3NN+4 & 520 70 30| 3 2 4v0= A -620 30 7.0
7 12 4y N+3 3 510 40 60 8 1 4v0= A -620 30 7.0
6 4 5y N+1 T 480 20 80| 9 5 4v 0= A -620 3.0 7.0
9 5 INN+6 &2 270 0.0 10.0(11 10 4v O= &K -620 30 7.0
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